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CA Current Assets

Liquidity A/R Account Receivable

Current Ratio Financial Leverage INV Inventory

Quick Ratio(Acid Test) Asset TL+E Total Debt Ratio FA Fixed Asset

Cash Ratio Debt to Equity Ratio TA Total Assets

Cash conversion Cycle CA CL Time interest Earned CL Current Liabilities

Cash A/P OCF to Interest A/P Account Payable

A/R Accruals P/N Promissory Notes

Activity Ratio INV P/N D Debt

TA Turnover TL Total Liabilities

FA Turnover FA D          SE Shareholder Equity 

IVN Turnover TL= CL+D RE Retained Earning 

IVN Period SE P/BV Price to Book Value

A/R Turnover RE COGS Cost of Good Sold

Collection Period E = SE+RE GP Gross Profit

A/P Period TA TL+E SG&A Selling Goods and Admin exp

Profitability 

GP Margin

EBIT Margin Sales xx

NI Margin (NP) COGS xx ROA  Equity Multiple

ROA GP xx  NI / TA  TA / E

ROE SG&A xx

EPS EBIT xx

Payout Ratio Interest xx NI  x SALE  x TA x TL

EBT xx Sale TA TL E

Tax xx

Market Value NI xx

P/E Ratio EPS xx

P/BV Ratio Profit Ability TA Turnover Leverage

Dividend Yield ROE = Operation Efficiency    x        Asset use Efficiency      x      Financial Leverage

 Du Pont Analysis   เปนการวิเคราะหงบของบริษัท โดยการแยกองคประกอบของ ผลตอบแทนจากสวนของผูถือหุน (Return on Equity: ROE) ออกเปน 3 สวนดวยกัน ดังนี้ 
1)  Profit Margin เปน อัตราสวนทางการเงินที่แสดงถึง ความสามารถในการทํากําไรของบริษัท (Profitability)  หรือ วัดประสิทธิภาพในการดําเนินงาน (Operating Efficiency) 

2)   Asset Turnover เปน อัตราสวนที่แสดงใหเห็นถึงประสิทธิภาพในการใชสินทรัพย (Assets use efficiency) โดย พิจารณาจากยอดขายที่หาไดตอ สินทรัพยจํานวนหนึ่งหนวย 
3)  Financial Leverage วัดดวยคา(Equity multiplier)  เปน การพิจารณาถึงโครงสรางทางการเงินของบริษัท โดยบริษัทที่มีอัตราการใชเงินกูสูง อัตราผลตอบแทนตอผูถือหุนก็จะสูงตามไปดวย   
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